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10.

U gd &I GHIBRT U9 A%l SId Y ol
o R @RI x-y+1 =0; 3x+5y-1 =0 3R
4x-3y+2 =0 ¥ 91 By @ 0o fagan 94
ot 2 |

OR (3121d1)

(a) Solve the equation sin6 - cos6 = 1
(b) Write the equation of the line in its symmetrical

form : x2y+3z+9=0& 3x +y +5z+2 =0

(@) THYBRT sind - cosd = 1 Bl & BN |
(@) |¥el @l b GHBIT —

xt2y+3z+9=0,3x +y +5z+2 =0
@&l sao RAfCHd wu o fod |

(a) Find the equation of the plane through point
(3,3,1) and perpendicular to the plane
3xtyt+4z-1=0and x + 7y +4z-3=0

n
(b) Prove that npr = ﬁ

OT12001 01101/02201/P01101
2019(0Odd)  owsynabus
Time : 3Hrs. Sem. I &I1
Engg. Maths -1
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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1o 901 (Q)
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GROUPC (i)  Ifat9, a-6 and 4 are in G.P,l then the value
Answer all Five Questions. 8 5= 40 ofais ...
Y ufg 9 @ SR © (a) 16
7. Solve the following equations by matrix method: (b) 15
x+2y+z =7 ; x+3z =11, 2x-3y =1 (c) 26
8
(d) None of these
frafafaa wfieen &1 ez fafr |@ &«
- e 4 Ah ¥ 2 A
x+2y+z =7 ; x+3z =11; 2x-3y =1 W atd, a-6 Td 4 LI
a BT A ..., 21
OR (3721dT) (@) 16
234 213 @) 15
IfA=|1 2 1 |B=]|3 2 4 |then. Find (A+B) (@) 26
223 1 01
(]) ™ ¥ @IS LT |
2 34 213 18
(i) 245
M A=[1 2 1|,B=|3 2 4 |dd (A+B)=ITd gl
223 1 01
(a) 2
| (b) 3
(© 1
8. (a) Prove that (1-w) (I-w2)(1-wH)(1-w5) =9 8 (d) None of these

P.T.O
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OR (3121an)
Find the square root of (4+31)

(4+3i) ®T T Aq1d BN |
For a triangle ABC, prove that
a® =b%+c?-2bc cosA
fodl s ABC & forg wrfaa o) &
a® =b%>+c2-2bc cosA

OR (3121an)

For a triangle ABC, show that
sin% =V(s-a)(s-c)/ac

fopell Feger ABC & fore @nfya o o
sin% =\(s-a)(s-c)/ac

Prove that :
sin"'x + sin"ly =sin"! [xvT-yZ+y\1-x2]
qrfad a &

sin"!x + sinly =sin"! [xvI-y2+y\1-x2]

0T12001

V)

(vi)

(vi)

(|) 44
(?) s & »Ig 7|

2radian=..............
1260 \°

@ (1252)

(b) 180°

(c) 360’

(d) None of these

(@) 360°

() 79 4 DIg eI |

01101/02201/P01101
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(xx)  (1011001), + (1011), is equal to ........ (viii) sin 1359@T | ... 2|
(a) (1100100), (1) %
(b) (1111011), .
(¢) (1000111), CIN-
(d) None of these
(|) 1
(xx)  (1011001), + (1011), =..cocvenrenenen. @) s q IF T
(31) (1100100),
() (1111011), (ix)  Value oflogﬁgis
(%) (1000111), (a) 6
@) 3% @ B T | (b) 5
(c)4
(d) None of these
O T AL p— 2
(31) &
@) s
(%) 4
(]) 3 4 BIs A8l |
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(xvi) afe AABC A a=4,b=12, <ABC =30" &1 (xi) g x>y +4x-2y-1=0 @Y Broar 2
a9 sinA ®T A ... 2
| (1) V6.
©) % @3
@ 1 (&) 2
I 9 el
() %_ (<) T 9 DIg |
(?) 379 9 BIs LN | (xii)  Direction emsines of y- axis is:
(a) (1,0,0)
(xvii) Tan-1x +cot-Ix =............ (b) (1’1,1)
T (c) (0,1,0)
@ 2 (d) None of these
b=

@) 1,1,1)

(d) None of these (®|) (0,1,0)

(xvi) Tan-'x +cot 1X =........... (€) s & Big 7|
(@) % o a b
(xii))  The value of the determinant|-a o -c| is:
(@) n (a)a+b-c b ¢ o
(bya-b+c
() 1 (©) 0
(%) 39 4 BiIg &I | (d) None of these
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11.

(®) & ad &1 GBI A0 IR Wl Uh o
(3,3,1) ¥ IGIRAT @ UG del 3x+y+dz-1=0 T4
X+7y+4z-3=0TR a4 2 |

(@) wifd & 6 np = Ho

OR (3121d1)

(a) In atriangle ABC, if a2,b2,c2 are in A.P. then
prove that TanA, TanB, TanC are in H.P.

(b) Find the equation of a circle which passes
through three points (1,2), (5, 1), (2,0).

(®) & YT ABC 9 3R a2b2c2 AP.H 2
a9 arfad & & TanA, TanB, TanC H.P. A} BT
(@) & 99 &1 G 9rd PR ol fag 9
(1,2), (5, 1), (2,0) & Toreft 2|

(a) Convert decimal number (6708.875) into
Hexadecimal number. 8

(b) Convert (F62E.DF), ¢ into octal number.

P.T.O
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0T12001 21
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(®) & ad BT GBI 1A R ol Uah o
(3,3,1) ¥ T[GIRAT @ UG del 3x+y+dz-1=0 T4
X+7y+4z-3=0TR a4 2 |

(@) wifyd & 6 p = Ho

OR (3121d1)

(a) In atriangle ABC, if a2,b2,c2 are in A.P. then
prove that TanA, TanB, TanC are in H.P.

(b) Find the equation of a circle which passes
through three points (1,2), (5, 1), (2,0).

(®) v& YT ABC 9 3R a2b2c2 AP.H 2
a9 arfad & & TanA, TanB, TanC H.P. A} BT
(@) & 99 &1 g 9rd dR ol fag 9
(1,2), (5, 1), (2,0) & Toreft 2|

(a) Convert decimal number (6708.875) into
Hexadecimal number. 8

(b) Convert (F62E.DF), ¢ into octal number.

P.T.O
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